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AAE - 8 (E) Booklet Code-82
ASSISTANT ACCOUNTS OFFICER {CIVIL) SUPPLEMENTARY EXAMINATION, 2018

NOVEMBER, 2018

COMMERCIAL AND MANAGEMENT ACCQUNTS (without books)

Time,A_(mwed ;2 MHours : Max_imum Marks : 68
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1.

o

This question paper consists of 4 pages and 7 questions.

2. Quastion Nos. 2 and-4 are COMPULSORY. Attempt any 3 of the rest, -
3.
4, Candidates should write the Booklet Code No.of this question paper on their answersheet in the

Show working notes ¢learly.

space provided,

in the table provided on the front cover page of the answer book, indicate the page nutber of the

answer book where answer to each question or part thereof is written.
Do not use different pens/ink for answering questions. Doing so may render the answer

seript invalid,

Strike off all blank pages/space in the answer books.
In gase of variation between English & Hindi versions, English version will be treated as correct.”

. (8) State with reasons whether the following are capital or revenue or deferred revenue.

[ 5 marks]
i) Discount on issue of shares & deberntures,
) Asum of 10,000 was spent on painting the office. -
i) Legaifees to acquire property.
) Depreciation on fixed assels.
v)  Overhaul expenditure of second hand machinery purchased.

(b) From the foliowing information, calculate cash from op@ratic)né: [ 8 marks]
. 2017 | 2018
Debtors P 500,000 4,70,000
Bills receivables 1,00,000 1,25,000
Creditors . 2,00,000 2,50,000
Bills payable £0,000 60,000
Outstanding expenses. - 10,000 12,000
Prepaid expenzes : 8,000 7,000 -
Accrued income ! 8,000 7.500
Income recelved in advance 3,000 2,000
Profit made during the year o 13,00,000

(@) From the following particulars of Excellance Literary Society, prepare Receipt & Paymerit Account
and Income & Expenditure Account for-the year ended 31st March, 2018 and Balance Sheet
as on that date. ) ‘ [ 15 marks]

ane-
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Balance Sheet as on 31f~:t Marc‘h 2017 .
Particulars Amount® .Par’ciculara B Amdunt &
Creditors - ‘ = 1,000 - (;’ash in Bank - : 6,000
Capital including axc,ez-s of .- Government securities 20,()0_0
Income over expendlture 52,800 Acaorued Interest 280
*Subscription receivable 800
Library books 3,500
. Fumiture 8 fittings 2,950
33,500 e 33,500

i)
Xii)
-xiv)

(b)

The transactions for the year are-as follows:

Subscription received T5,000
Receipts fromi entertainment & lectures 2,000
Interest on securities received 950

- Entrance fee ¥1,000 .

Receipts from sale of old chafrs %'1 50
Rent paid ¥1,200
' Printing paid ¥300

ii)- Advertising paid 3400

© Petty payments 150

. Govl, securities purchased 5,000
-~ Paid to greditors 2850

Paid for furnitire ¥800
Paid for Fbrary books 600
Refrashments T1,500°

- Following were o/ assete and Jlabmtles as on 31&t Nlarch 2018: (i) Printing ¥150, (i) Rent
2200, (lii) interest accruad on securities 300, (iv) Subscription receivable ¥650.

Define accotnting. What are its_objectivas:’?' (aﬁy .4);[_ P : [ 1+4=5 marks] .|

The. ratio of varlablé cost to galea is 70%: The break @ven point oceurs at 60% of capaolty-

 sales. Find the capaeity salles when fixgd cmsts are. %‘90 000 Also compute profit at 78% of

()

aae-8

capacity sales. : | : [ 8+326 marks]

ABC Ltd, produces a Varlety of products each hd\llﬂg a numbar of comporniant parts Produst

B takes & hours 1o produse oh a particular myachitie Which is workmg on full capacity. B has. .
selling price of $100 and vartable cost of $60 per unit. Accsmpanent part X-100sould be mads

on same machine in 2 hours at a vatiable gost of 710 per unit. The supplier's price for the
component is 325 per unit, Advise whether thm cmmpany vhould buy component X-100(on the"

bmls of relevant cost), _ T [4 maxksj'_ o
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4. (1) Define accounting equation’? Calculate total assets, total equity and owner's equity f
i} Capital¥80,000 . . -
iy Creditors 50,000
i) Revenue®1,50,000 _ , -
iv) Expenditure £1,05,000 [ 243=8 marks] '

() Rectify the following errars in the ascounts of Shriraim Traders: 1 10x1 =10 marks]
) Wages pald 2,750 were recorded as ¥2,075. S
i) Salary paid fo Prem Prakash 4,000, was debited {0 his personal account,
i) Stationsry purchased for $1,000 but‘not; recorded In stationery account.
iv) %8,000 was spant for installation of machinery, but this amount was debited to wages alc.
V) A customer from whorn 31,000 was receivable, was not Included in the list of debtors.
vl) Cash sales for £10,000 were dabited to purchase a/c.
vil) Sales day book was undeteast by ¥1,000. \
villy A bl receivable which was actepted by Kamal for 1,500 was sent to bartkers:for collection,
This was dishonored & returned by the bank was debitable to B/R afc.

ix) Goods for ¥H00 raturned by x wera included in closing stock but no entry was made in
books,

. x)  Abuilder's bill for ?14 500 for erection of smiall shed was debited to repairs a/c.

5, (a) Whatare the schedules (Assets & Liability side) to Balance Sheet as perannexure C of standard
_- formats recommended by the committée of experts on uniform fortn of Acoounts for Central
- Autenemotis Bodies in their report, Namether. - [ 6 marks] |

; ."(l::r)i ‘Daﬂne tha following: meamrem@nt bases fc:r glements of financial statements:
N [1+14 124 marks]
© ) Historical cost
. ) Gurrent cost
o iy Realisable valus
. iv) Presentvalue.

- 8, Define the following accountirig concepts -« o [ Gx2=10 marks]
S0 Dual aspest concept :
i), -Accounting petiod concept
- fliy ;- Acerual concept '
X IV) Consistency concept
W, "‘Mat@riahtywncept

A (a-),.me the following, calculate debt-equity ratio [ 4 matks]
| -~ Eqity share capital (10,000 Equlty shares of Q‘m each) _ f - 1,00,000
o Generalreserve o | o 50,000
‘ ‘Accumulated profits L . 25000
- U Debentures - | | - 75,000
S sundry ereditors s - | 40,000
L Outstanding expenditure . - S 20,000
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. A
Calculate stock turhover ratio fram following :
Opening stock 30,000
Purchase S 21,48,000
Clasing stock : 320,000

Calculate gross profit ratio from following:

Curtent assets - 140,000
Stock o .%80,000
Sales ST R2,40,000

Cost of gnods sold- ¢~ ¥1,20,000

o ¢
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[ 3 marks]
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